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Into what part of the heart does oxygen-rich ¢ sVl i) adll daay il e gl L_J ]
blood enters?
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What is the nutrients that provide body with energy cabiaial | o .:.n.L;ij =EIA|P ‘u.n_l!- 2 Al ddlaall algall L

and help absorbtion of vitamins? luaaluagll




What fluid produced in the mouth contains digestive Pioaly cilayl Jo gfineg adll & =80 oM Bl L

enzymes?

v} Saliva l




Which can form an enlarged image? €580 5ypea (6% o oK sl L

Plane mirror

Convex lens

dihleyi Ul R9g0




Which of the following correctly describes the visual
apparatus in the figure below?

Light from
distant object

Real image of
distant object

Refracting telescope and it uses two convex

lenses

Reflecting telescope and it uses two convex

lenses

Refracting telescope and it uses two mirrors

and an eyepiece lens

Reflecting telescope and it uses two mirrors

and an eyepiece lens
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The graph below shows the contents of one serving of il {__gi PSR S PR-TP- W IY- PO sloal sl (ol

food. Which of the following statements is cormrect?

‘;Ll.ku.ns.l:djz_ma'léj:lu

Contents of one serving of food

/-

" Fruits and vegetables 481 gl § il g pasll W Carbohydrates < e g Sl
= Protein <l gl = Fats oygadll

$iainia Al

aS1gally calg pmdd) Laud mlads) a1 1lad) 1:u.l.,..L.n 128yl
This food is a good choice due to the low content of vegetables and fruits

Cosaall A 8 1)l e gt aladall 138 el
This food is considered balanced due to the high fat content

Ol Fad o U8l Gy ilte b aladall 138 el
This food is considered unbalanced due to its high fat content

st s alia) s Vi Flaa) aledall 13 e

This food is a good choice due to its low carbohydrates content




The scarlet kingsnake is a non—poisonous snake that dxilajall Gl alSh 8 oLl i (gheyill Sl ng:i Al

looks like the poisonous coral snake. o Flie 138 2 2l

This an example of ... . . . . .

Behavioral adaptation Sl il

Functional adaptation

Camouflage




A refracting telescope 1<l

A reflecting telescope
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io A microscope ol i
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What the selection and breeding of organisms with desired e Jeeaall L fg doa Bl Hladl o 3l e

traits is called? €Lugd po Aisna Cilass

Natural selection ﬁLII szl

all Lian LAt A
Q Selective breeding

Adaptation sl

Variations




Which of the following happens in the stomach? Taeall A Cans 0 Les

e S aladall (A
Temporarily storing food
il Jalaal 1) aaldY) 3 il yuus
Breaking down proteins in foods into amino acids

Lisadll ueg¥) S (e pall 3 200300 gal L
Diffusion of nutrients into the blood through blood vessels

pladall SlSuall aiagll 4y,

The beginning of Mechanical digestion
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What carries oxygen to all the body’s cells? fasadl LA (8 ) Sy o sl L

Platelets

o

_ &.AS‘JLRECI blood cells sl 2l LD

S A

White blood cells shagll pall S




What is the permanent change in the aal & asall ONA dedis A Gl padll e Gty 1l

sequence of DNA In a gene called? fliall

Phenotype gallall Skl

Fertilization Clasl
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In relation to the figure below, which of the following is Smnca b Lee ) colial (1L glats Lok
correct?

Light from

The eye has a Farsightedness, and a concave anam ] Gl Ausell andnidly il Jolay Aleais el distant object

lens is used to correct it

The eye has a Farsightedness, and ancaal Aoadll Gsall asdnady il Jela Ailal el

a convex lens is used to cormrect it

ﬁ I el ] 11 Sl Eeene =

The eye has a Nearsightedness, and ancaall Syl Adal) p2andy sl el Glad Gl

a concave lens is used to correct it

The eye has a Nearsightedness, and Aol Bl Acced) ardndy ) gead Aleak ol

a convex lens is used to cormrect it




Which part of the digestive system produces amylase s A oLl ol 3laa¥) a8 auagl) Sleadl Shal
enzyme that helps breaking down carbohydrates? L= JSE P

Stomach

Esophagus
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In the figure below, what describes the distance of the  §)swall Silia; dusall o awall 2 Cliay 3 L calaal (KN =
object from the lens and the characteristics of the S gSn,ll
image formed?




Which area of the brain works with the urinary system to  Lliall & saslaall Tall 5lgall e et E el e dakaia L_gT

help maintain homeostasis? g Akl AR L

The cerebellum
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I - The hypothalamus Mgal) iy I
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Which of the following processes takes place within the cells Edgmgall Aauat¥ ) LS Jals Ganas Z6N cilidanl) e L_gT

of existing tissues at your feet? EIR

Inhalation

Breathing

External respiration




Which process is illustrated below? sl Aaagall bl L

Mutation

Asexual reproduction

MNatural selection




Which of the following is true regarding asexual ¢ cia Sl glen Lo monia L Lee
reproduction?

gsbetiall aluaki¥ly Za)) ALkl adde ALAY1 (s

An example on it is cell division and mitosis 1
it ol A i ll) (Lot (30
The offspring is identical to the original organism 2

Happens in humans
Lagh lae (30 Y 48] Lol of L) 2aY 13l sl (usill S
The offspring are similar—but not identical—to the 4
parent or parents




What is the name of the respiratory system part NI BECANE | Al adl HLERN sl Glealdl sia ol Lo

indicated by the number 1 in the figure below?

Pulmonary artery sl plydll




Regarding the figure below, which of the following Famam o A0 Ll Egi colaal KT glets Lo

statements is true?

The mirror is convex, and the image formed is 535 Aoglie AaRdia A3aSnall Fysualls daaaa 5]l

a real, enlarged, and upside—down

The mirror is convex mirrors and the image Siriae Aibea Jo e 35080l 5jaealls donaa 3 yall

formed is reduced, upright, virtual

e mirror is concave, and the image formed is B35 Aoglie AoAda A3.Sldl 5y0ealls Syede 51l

a real, enlarged, and upside—down

The mirror is concave, and the image Byrial Aldiak 5000 A3 eSiall 5)seally Byaiia 51all

formed is reduced, upright, virtual




In ﬂie ﬁguFE below, whi‘ch :Fﬂﬂ’. ﬂf thE rﬂsplraiuw
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Which of the following are the correct names for the

organs of the urinary system in the figure below?

el Slgall olined daaiall clel 2 S les

?nLﬁ."I L}i&]i

4 3 2 1
A lal) <) Julay!
Bladder Ureter kidney Urethra
Jaba Y bl llal 1K
Urethra Bladder Ureler kidney
¢l sl Al syl
kidney Ureter Bladder Urethra
alladl Uula! a4l aalidl)
Ureter Urethra kidney Bladder




Which of the following is being used in the figure below? eslial SN (s pidiude o las ;__.;T

Concave lens §iaia dais

Concave mirror Sy 51

aliviananj.comyae

Convex mirror HIEON {9




If a ray of light falls parallel to the optical axis on the 3yeia 5lpe C_L.u o Gradl jenall Bilge Joua E\;&._Liu 13l

surface of a concave mirror, it will ... N - PV L

reflect parallel fo the optical axis gradl jpall jlae s A e ey

refract parallel to the optical axis rardl gl Jlsa s A i sy

| | e
| | : e . 1
i ° alM.—reﬂect through the focal point Aol Al jad e i
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refract through the focal point Lol Al jad s
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Gradl saall Hlga s A i Sy

Goaidl gyl e b 3 e sy

Ayl il el Sy

sl Al sl

copes

scope and it is one of the

DSl LSl sl gy b g€t

5 :ope and it is one of the
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